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QUESTION 1
—- Exhibit
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-- Exhibit -Click the Exhibit button.

In the topology shown in the exhibit, which two BGP attributes can AS1 manipulate to influence the path that AS4 takes
to reach prefixes originated by AS1? (Choose two.)

A. Local Preference
B. AS Path

C. Origin

D. MED

Correct Answer: BC

QUESTION 2

The network administrator wants the ports on an EX series switch to allow both tagged and untagged frames to be
followed. Tagged FRAMES should be associated with their tagged VLAN. While untagged frames should be associated
with a preconfigured VLAN. In this scenario, which statement is true?

A. The INTERFACE PORT MODE should be configured as mixed mode two allow both trunk and access port modes,
untagged frames will belong to the default VLAN configured on that port.

B. An Interface can be configured as an access port or a TRUNK Port ,but it cannot accept both tagged and untagged
frames.

C. The interface port mode should be configured as an access port with a VLAN id frames that enter the port wid a
VLAN tag already assigned will override the access port VLAN id.

D. The interface port mode should be configured as a trunk port, untagged frames will belong to the native vlan id
configured on that post.
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Correct Answer: D

QUESTION 3

How does an administrator block IGMP reports for the 239.0.0.0/8 group range?
A. Create a routing policy and apply it to IGMP using the group-policy feature.
B. Create a routing policy and apply it to IGMP using the report-policy feature.
C. Create a routing policy and apply it to IGMP as export.

D. Create a routing policy and apply it to IGMP as import.

Correct Answer: A

QUESTION 4

-- Exhibit -MSTP information Context identifier : 0 Region name : Juniper Revision : 1 Configuration digest :
0xfdbe318c0ae799ae6dfdac4c882c67ee

MSTI Member VLANSs 0 0,4-4094 1 1-3 -- Exhibit -
Click the Exhibit button.

A network engineer has configured MSTP on several switches for loop protection. You must verify the work and ensure
that the appropriate parameters match on all switches.

Which operational command provides the required output shown in the exhibit?
A. show spanning-tree interface

B. show spanning-tree mstp configuration

C. show spanning-tree bridge

D. show ethernet-switching interfaces

Correct Answer: B

QUESTION 5
R1 has an OSPF adjacency with R2 over a point-to-point link.

Which three statements about the advertisements for this link in the Type 1 (Router) LSA generated by R1 are true?
(Choose three.)

A. It has a value in the link ID field with R2\\'s interface IP address.
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B. It has a value in the link ID field with R2\\'s router ID.
C. It has a link-type of point-to-point (Type 1).

D. It has a link-type of Transit (Type 2).

E. It has a link-type of stub (Type 3).

Correct Answer: BDE
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